glel T8
2 5l 8| | N
| Bl ¥ « =
£ ) N 0 A=
HERIR: SRS
i | o ORE
NE 2| &]E ¢ 25
@ HEE 2 |3
£ . o LE 2 1F 2 |k
N E o) K © 5 o
S o 14 x 5 8 N
S8 e S D-8| = £
25 = > M _“_._m 5 3 © aw,"um
25 O = N 2R s o|2Eg|®
S5 % 3 g WEE| B82|=83s
o w = o $ ) 2 Dwnl L2 NE
> 2 x @ < x o = —
[ o) o N — ~ ) 5 <t N
o Q2 «© o N M 5 U= |09
= X [ ) g =R2|8s5¢
S 2 So¥|5a<
© - K X0 x |Foal o
N T S S m CL% m
~(O ! < (3 0 N
= ! OB | 258|298 8L
> — \ g| S£E|@sx|
(@) 1 S| ..D o) Q.. x
© \ Qg0 5> o &
= = 3
m \ 21T 0 O m Ne)
- ! Ol8 o S~ |3
(<)) 3 o | 0 m m N
- - S| 2 N 2
o) D 3
- 4 D
9|9zs)e|0yINg 1N S0I0}SO
0 'gvl aban zseyezs 1sezonid] O Ovy+0
_ ST e U e
N~
nSE5Y
3 IR
~N ™ N
I vien 08' bl [
9'62v+0 g g1yl zs 0} olefogndey [=wo— ¢8er+0
[epIo qgof wy 9°2g+0 EEf
Wm“ T4
S, 08'Lv)
2 £ L'6Ly+0
v TOO-[| ¢ 8VL| 9F8vT 0cy+0
% lII
S | rerl JgW 8Z'8Y L s 'z| osefegndey _ o osum
6ELP+0 [epio qgol wy 6°¢L#7+0 muw £8k+0
EP o
¥ €0v+0
¢001 9€8¥IT 8T8Vl 00v+0
x
N
| bevl JgW 88°8% 1 Zs "y oselegndey
0°08¢+0 |1epjo qqol wy @.@Nm+o|_ ST 0| 1Z8V1| 69871 08€+0
JgW 96°8YL "Zs "9 giefeqndey
[epio qgol wy m.ﬁm+o|_
Wy 0°2LE+0
qozsny gluexygsobgsseqes
wy 0°29€+0
Jgu Le6yL Zs "9| osefegndey
[epjo ggof wy 2'09€+0 SO0 T 6FT | 6T 6T 09€+0
Jgw 05°6¥1 Zs "g| oJsefeqndey —
_m_w_o qaqol Evmmv.%m%% |_ LLsE
Jgu ¥S° 6% L "Zs g oselednde
[epjo qqol wy g'€Ge+0
&
a | zgepl JaW 89°6¥ L zs gl oselogqndey
g 1¥E+0 ) __|epjo qgol wy 'L yE£+0
1gw G/ 6171 "zs "0g otelogndey ZrO[ 756V F| 9967 0ve+0
|epjo qqol w N.wmm+o|_
Jgw L6611 Zs "0g olefeandey
|epjo qqol wy g'€ze+0
m €L0 1 Z86Vl| G667l 0ce+0
< | ss6rl Jaw L1°0G) zs "gg oJelegndey ‘
Z'91€+0 |epjo qqol w N.@rm+o|_
Jgw 0°0S1 “Zs "Zg 9sefegndey
2 [eplo qqol w @.mom+o|_
- ca6hL 48w €005k 28 be oJeleqndey e
0°00€+0 IEPIO Gqo: AN €°4.08+0 10| G806vl] C00G1 00€+0
wy 0°¥8Z+0
qQzsny glusQsobessaqes
wy 0'6.2+0 vL'0-| ssevl| 69'6vL 082+0
Jgw L9'6¥L “Zs "9g oJefeqndey
[epjo qqol wy $°9/Z+0
oileyny 1lepjo jeq wy £'L9Z+0
JaW 8617 L Zs 'gg olefogndey Z0O[ 9 BPT | T2 BTT 092+0
[eplo qqol wy +'19Z+0
Jgw 21°6%) zs "gg oJelegndey &
|epjo gqol w o.t&+o|_ T
1gu 21 6% zs 0g osefeqndey S
2 [ep|o qqol w Z'yz+0 ¢
2| ossrl
0°0¥¢+0 900968Vl 067l 0yc+0
1 ' ! ' [ — —— ————] ' ! ' |
1+ " V' Pt
(] o (@] o
(@) (@) (@) (@)
5 2 g g
)gw 281 "zs "0 osefeqndey - - i 3
[epio gqol wy o.wmm+o|_
gl $5 8L “Zs Zg osefegndey
[epjo qqol wy ENN+O|_
jgw ze'8y| ‘Zs ‘z¢ oJefeqnde
[epIO o_o_o.— WX 6°0¢c+0 €00 0C8vly ZI87l 0¢c+0
Jgw 68 /L “Zs "Zg¢ osefegndey
[eplo qgol wy /'602+0
oileyny 11epjo |eq wy |'602+0
910 SV V1| 6571 002+0
Jaw g7/ "Zs 'pg ouefegqndey
[epjo qgol wy @.va+o|_
JgW 98°9% 1 ‘QIeAUZIA WX G981 +0
L0 99971 62971 081+0
m
w | zzovl Jgw g 9L “zs '8¢ oJefeqndey
¥'891+0 [epjo qqofl wy $°'89L+0
oifeyn 11epjo [eq wy G°'G9L+0
JaW 88°Gy L ‘QIRAUZIA Wy G 09L+0
710 06 GPl] #0971 091+0
JgW 68°GY L Zs 'g¢ osefeqndey
[epjo qqol wy @.Nm$o|_
JgW 0/'GY L “Zs "0y Qiefeqndey
) |eplo qqol wy o._%io
1gw L9'GyL 'Zs "0y olelegndey
[epjo qqol wy m.mi+o|_
1aW 0Lyl "gIRALZIA U 0°0F |+0 ST O | SFGPF| OEGPTF ovL+0
S 1aw 61°GyL 'Zs "0y 9Jefegndey
© | z6vpl [epjo qqol wy g 2€1+0
6'€€1+0 JgW G0'GY L Zs Oy oselegndey
[epjo qqol wy 6°¢€L+0
€001 ISvPLY P9 7PPL 0¢L+0
JgW Z5 vy L Zs gy osefegndey
leplo qqol wsf L'y L+0 |
W 0g Pl ‘QRAUZIA WY GpLL+0 T
w0 LLL+0
qQzsny QJueMYQsobossaqes
wy 0°90L+0
F1E B E% 2 2 00L+0
JgW L0 L ZS vy olelegndey
|epjo qqol wy m_.@momo
Jgw 96°¢| Zs "9y osefegndey
[eplo qqol w @.Nmo+o|_
Jgw 09'eyL ‘QIeAuzZIA Wy G'060+0
Ol 01 PECPL PP EVI 080+0
1gu Ly eyl Zs "9y osefegndey
lepjo gqol wy L°2/0+0
Jgw ZZ eyl Zs 8y oselegndey
[eplo agol wy 2'¢/0+0
JgW 06°2YL ‘QIeAUZIA Wy G'990+0
- 19w 66°27 1 Zs "8y oJefeqndey
S lep|o ggol wy ! So+o|_ _
I3 0l¢cvl Jgw 98°'Zv L ZS '8y O._m.—mnsamv_ 00| 9Z¢vl| €8¢vl 090+0
0'850+0 [epjo qqgol wi o.mmo+o|_
Jgw 2/°Zy L Zs 05 oJeleqndey
|epjo ggol wy /2 $S0+0
1gW 8¥'Zy L ‘QIeAuzZIA Wy G 8%0Q+0
. JgW 692y L “Zs "0g osefeqndey
= ) _[epjo ggol w |"8#0+0
2 zrzn jgw Lo eyl 'zs oS oselegndey
525050 lepjo ggol wy $°G%0+0
guyezyl 7S 00 iloandey | T e ovos0
JgW Z5 gyl Zs Zs osefeqndey
|epjo qqol wy N.mmo+o|_
. Nl Jgw gegyL ‘QIeAuzia wy 0°ZE0+0 —
1
4‘
I
[}
o .- N / o
W 057 AR
s | sezvl . Lo i
=2 0°020+0 g eeerl O_m>CN_> u> 0°0c0+0 [1T0 | 8EVL| 6V vl 020+0
s | eszvl 2R
0910+0 ERSER IT 0| €5 Chb| OZcvl
m mw " 08'Lvl
T80 7LI0+0
S e R R S ﬂ 08l 5 m %mwrm
) «5| zoLo+o w N
~ | vrevl E TR
s | 2'€00+0 = 000 PP EFT[ PP ETT ®©
< | ssevl \ N
0°000+0 S[9ZSIe[oXINJ 1 SOI0ISO WO AcicRodn g 000+0 000
9)apzay zseyezs 1S9zaAia ] Wy 0°000+0
R L L T L o o ey e O S T e, oy, R RS R N
(@) o o (@) (@) o o (@)
o o o o 0. o o o
(o] o0} N~ (o] [To] < o [q\]
S I 3 J I 3 J I
<l 3
.m" © _ w D ()]
o) o @
g 8 i g 2 g L, ¥ =
Z — %) _ n g $ :0 = — H U E %
Q u =g 5 £ 2 = z & 2 9
2 u X & < 9 0 D & K
> S q W = 8 < o > >
(%] L = o © > L — Z
) 3 ai & S 8 z & N <
Ll = | < = o ~ n @




